ELECTRIC HOIST SPECIFICATION

<div class="articleTable"> <table border="0" cellspacing="0" cellpadding="0"> <tr> <td
valign="top"> <p align="center">HOIST TYPE</p> </td> <td valign="top"> <p
align="center">TP 1000/E</p> </td> </ir> <ir> <td valign="top"> <p>Maximum Load kg</p>
</td> <td valign="top"> <p align="center">1000</p> </td> </tr> <tr> <td valign="top">
<p>Average Lifting Speed m/min</p> </td> <td valign="top"> <p align="center">14</p> </td>
</tr> <tr> <td valign="top"> <p>Lifting Height m</p> </td> <td valign="top"> <p
align="center">24</p> </td> </tr> <tr> <td valign="top"> <p>Hoist Mass kg</p> </td> <td
valign="top"> <p align="center">64</p> </td> </tr> <tr> <td valign="top"> <p>Gantry Mass
kg</p> </td> <td valign="top"> <p align="center">150</p> </td> </tr> <tr> <td valign="top">
<p>Mass of the two ballast boxes kg</p> </td> <td valign="top"> <p align="center">90</p>
</td> </tr> <tr> <td valign="top"> <p>Ballast Mass kg</p> </td> <td valign="top"> <p
align="center">800</p> </td> </tr> <tr> <td valign="top"> <p>Overall Dimensions mm</p>
</td> <td valign="top"> <p align="center">780*270*500</p> </td> </ir> <tr> <td
valign="top"> <p>Anti @Revolving steel rope (19*7)<br /> Cable Demeter mm<br />
Resistance type N/mm2<br /> Minimum breaking strength kN</p> </td> <td valign="top">
<p align="center">@</p> <p align="center">7<br /> 1960<br /> 31,5</p> </td> </tr> <tr> <td
valign="top"> <p>Asynchronous Motor<br /> Power kw<br /> Voltage V<br /> Frequency Hz<br
/> Capacitor @F<br /> Insulating Type<br /> Protection Type<br /> Intermittent Working</p>
</td> <td valign="top"> <p align="center">Single Phase<br /> 1.5<br /> 220<br /> 50<br />
80<br /> B<br /> IP 44<br /> 50%</p> </td> </tr> </table> </div>




